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Θέµα Β 
Β1. 
 
Για k από 1 µέχρι 29 
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ΘΕΜΑ  Δ  

ΑΛΓΟΡΙΘΜΟΣ  ΕΤΑΙΡΕΙΑ_ΠΛΗΡΟΦΟΡΙΚΗΣ  
!	
  ΕΡΩΤ.	
  Δ1	
  
ΓΙΑ  Ι  ΑΠΟ  1  ΜΕΧΡΙ  10  
   ΔΙΑΒΑΣΕ  ΟΝ[Ι]  
   ΓΙΑ  J  ΑΠΟ  1  ΜΕΧΡΙ  28  
      ΔΙΑΒΑΣΕ  Ε[I,J]  
   ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ  
ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ  
!	
  ΕΡΩΤ.	
  Δ2	
  
ΓΙΑ  Ι  ΑΠΟ  1  ΜΕΧΡΙ  10  
   S  ß  0  
   ΓΙΑ  J  ΑΠΟ  1  ΜΕΧΡΙ  28  
      S  ß  S  +  E[I,J]  
   ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ  
   ΕΜΦΑΝΙΣΕ  ΟΝ[Ι],  S  
ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ  
!	
  ΕΡΩΤ.	
  Δ3	
  
ΠΛ  ß  0  
ΓΙΑ  Ι  ΑΠΟ  1  ΜΕΧΡΙ  10  
   Χ  ß  0  
   ΓΙΑ  J  ΑΠΟ  1  ΜΕΧΡΙ  28  
      ΑΝ  Ε[Ι,J]  >  500  TOTE  X  ß  X  +  1  
   TEΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ  
   ΑΝ  Χ  =  28  ΤΟΤΕ    

ΠΛ  ß  ΠΛ  +  1  
ΕΜΦΑΝΙΣΕ  ΟΝ  [Ι]  

   ΤΕΛΟΣ_ΑΝ  
ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ  
ΑΝ  ΠΛ  =  0  ΤΟΤΕ  
   ΕΜΦΑΝΙΣΕ  «ΚΑΝΕΝΑΣ  ΙΣΤΟΤΟΠΟΣ»  
ΤΕΛΟΣ_ΑΝ  
!	
  ΕΡΩΤ.	
  Δ4	
  
ΒΡΕΘΗΚΕ  ß  ΨΕΥΔΗΣ	
  
ΑΡΧΗ_ΕΠΑΝΑΛΗΨΗΣ  
   ΔΙΑΒΑΣΕ  ΟΝΟΜΑ  
   Ι  ß  1  
   ΟΣΟ  Ι  <=  10  ΚΑΙ  ΒΡΕΘΗΚΕ  =  ΨΕΥΔΗΣ  ΕΠΑΝΑΛΑΒΕ  
      ΑΝ  ΟΝΟΜΑ  =  ΟΝ[Ι]  ΤΟΤΕ  
         ΒΡΕΘΗΚΕ  ß  ΑΛΗΘΗΣ  
         ΘΕΣΗ  ß  Ι  
      ΑΛΛΙΩΣ    
         Ι  ß  Ι  +  1  
      ΤΕΛΟΣ_ΑΝ  
   ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ  
ΜΕΧΡΙΣ_ΟΤΟΥ  ΒΡΕΘΗΚΕ  =  ΑΛΛΗΘΗΣ  
  



ΓΙΑ  Ι  ΑΠΟ  1  ΜΕΧΡΙ  4  
   ΣΧ[Ι]  ß  0  
ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ  
  
ΓΙΑ  J  ΑΠΟ  1  ΜΕΧΡΙ  28  
   ΑΝ  J  <=  7  TOTE  
      ΣΧ[1]  ß  ΣΧ[1]  +  Ε[ΘΕΣΗ,J]  
   ΑΛΛΙΩΣ_ΑΝ  J  <=  14  TOTE  

ΣΧ[2]  ß  ΣΧ[2]  +  Ε[ΘΕΣΗ,J]  
   ΑΛΛΙΩΣ_ΑΝ  J  <=  21  ΤΟΤΕ  

ΣΧ[3]  ß  ΣΧ[3]  +  Ε[ΘΕΣΗ,J]  
   ΑΛΛΙΩΣ  

ΣΧ[4]  ß  ΣΧ[4]  +  Ε[ΘΕΣΗ,J]     
   ΤΕΛΟΣ_ΑΝ  
ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ  
  
ΜΑΧ  ß  ΣΧ[1]  
ΓΙΑ  Ι  ΑΠΟ  2  ΜΕΧΡΙ  4  
   ΑΝ  ΣΧ[Ι]  >  ΜΑΧ  ΤΟΤΕ  ΜΑΧ  ß  ΣΧ[Ι]  
ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ  
  
ΓΙΑ  Ι  ΑΠΟ  1  ΜΕΧΡΙ  4  
   ΑΝ  ΣΧ[Ι]  =  ΜΑΧ  ΤΟΤΕ  ΕΜΦΑΝΙΣΕ  Ι  
ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ  
  
ΤΕΛΟΣ  ΕΤΑΙΡΕΙΑ_ΠΛΗΡΟΦΟΡΙΚΗΣ  
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